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QUESTION 1

Which of the following statements regarding BGP Add-Paths is FALSE?

A. Add-Paths allows non-best paths to be advertised to a peer.

B. Add-Paths capabilities are exchanged between peers after the BGP session is established.
C. A BGP speaker must advertise the capability to receive multiple paths from its peer.

D. A BGP speaker must advertise the capability to send multiple paths to its peer.

Correct Answer: B

QUESTION 2

Click the exhibit.

AS 65540
192.168.1.0027

@ F ‘R4 | AS 65542
10.10.10.3/32 10.10.10.4/32 10.10.10.2/32 10.10.10.4/32

10.10.10.6/32

AS 65541

Router R1 is a route reflector with clients R2, R5 and R6. Router R3 advertises the prefix 192.168.1.0/27 to routers R5
and R6. Assuming that routers R1, R2 and R4 are configured with "add-paths ipv4 send 2 receive", what is the expected
output of "show router bgp routes” when executed on router R2?

A. Option A

B. Option B

C. Option C

D. Option D

Correct Answer: A

QUESTION 3

Which of the following statements regarding the Internet is FALSE?
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A. It is a global network relying on interconnections provided by Internet service providers.

B. It is a continuous and interconnected set of public IP networks, advertised and shared across the globe.

C. It is a settlement-free global network that provides interconnection between Internet service providers.

D. It is a network that allows any Internet service provider to reach every other Internet service provider in the world.

Correct Answer: C

QUESTION 4

How are policy direction and data flow related on the Alcatel-Lucent 7750 SR?
A. Import policies affect ingress data flow.

B. Export policies affect ingress data flow.

C. Both import and export policies affect ingress data flow.

D. Policy direction and data flow are independent.

Correct Answer: B

QUESTION 5

What is the purpose of configuring a triggered-policy on an Alcatel-Lucent 7750 SR?

A. Policy changes are delayed until the peer router with the affected routes reboots.

B. Policy changes are delayed until route updates for affected BGP routes are received from peers.
C. Policy changes are delayed until BGP sessions are cleared or BGP is reset.

D. Policy changes are delayed until the router reboots.

Correct Answer: C
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